// PWM output @ 25 kHz, only on pins 9 and 10.
// Output value should be between 0 and 320, inclusive.

#include<arduino-timer.h>

Timer <1,micros> timer;

int j = 0;
bool state = HIGH;

//FREQUENCY ARRAYS////////////////////////////////////////////////
//int myarray[] = {554, 554, 554, 498, 554, 587, 587, 554, 587, 587, 587, 587, 554, 587, 659, 659, 587, 659};

//int myarray[] = {659, 698, 784, 1047, 659, 698, 784, 1047, 1175, 1319, 1175,  988, 1047, 784, 659, 698, 784, 1047, 1175, 988, 1047, 1175, 1397, 1319, 1397, 1175, 1568, 1760, 1319, 1319, 1047, 1245,1175, 1047, 1047, 1175, 1245};
//^NYAN CAT^
//Set time divisor; 4=eighth 2=quarter 1=half 
//int myarray[] = {311, 247, 349, 247, 294, 247, 349, 247, 294, 247, 349, 247, 294, 247, 349, 247, 311, 247, 349, 247, 294, 247, 349, 247, 294, 247, 349, 247, 294, 247, 349, 247, 330, 247, 392, 247, 330, 247, 392, 247, 330, 247, 392, 247, 330, 247, 392, 247, 330, 247, 392, 247, 330, 247, 392, 247, 330, 247, 392, 247, 330, 247, 392, 247, 311, 247, 349, 247, 294, 247, 349, 247, 294, 247, 349, 247, 294, 247, 349, 247, 311, 247, 349, 247, 294, 247, 349, 247, 294, 247, 349, 247, 294, 247, 349, 247, 330, 247, 392, 247, 330, 247, 392, 247, 330, 247, 392, 247, 330, 247, 392, 247, 330, 247, 392, 247, 330, 247, 392, 247, 330, 247, 392, 247, 330, 247, 392, 247, 494, 247, 440, 247, 415, 247, 440, 247, 392, 247, 349, 247, 392, 247, 330, 247, 349, 247, 311, 247, 330, 247, 294, 247, 330, 247, 294, 247, 330, 247, 294, 247, 494, 247, 440, 247, 415, 247, 440, 247, 392, 247, 349, 247, 392, 247, 330, 247};
//^THUNDER
//int myarray[] = {691, 823, 615, 615, 487, 580, 547, 487, 487, 547, 580, 615, 547, 487, 547, 615, 691, 823, 615, 691, 547, 615, 487, 547, 487, 615, 691, 823, 615, 691, 547, 615, 487, 580, 615, 580, 547, 487, 547, 580, 487, 547, 615, 691, 547, 615, 547, 487, 615, 487, 547, 487, 342, 385, 487, 342, 385, 487, 547, 615, 487, 652, 615, 652, 691, 487, 487, 342, 385, 487, 342, 652, 615, 547, 487, 342, 287, 322, 342, 487, 342, 385, 487, 342, 385, 487, 487, 547, 615, 487, 342, 385, 342, 487, 487, 459, 487, 342, 385, 487, 652, 615, 652, 691, 487, 459};
//^NEW CAT^
//int myarray[] = {294, 349, 440, 349, 440, 349, 294, 349, 294, 349, 440, 349, 440, 349, 294, 349, 262, 349, 440, 349, 440, 349, 262, 349, 262, 349, 440, 349, 440, 349, 262, 349, 247, 294, 494, 294, 494, 294, 247, 294, 247, 294, 494, 294, 494, 294, 247, 294, 196, 294, 494, 294, 494, 294, 494, 294, 440, 440, 440, 440, 440, 440, 349, 440, 440, 440, 440, 440, 349, 330, 440, 440, 440, 440, 440, 440, 349, 440, 440, 440, 440, 440, 440, 294, 294, 247, 440, 440, 494, 587, 659, 554, 587, 587, 440, 440, 494, 554, 554, 554, 554, 554, 494, 494, 554, 587, 494, 494, 494, 494, 494, 554, 494, 554, 587, 494, 494, 554, 494, 554, 587, 494, 587, 659, 587, 659, 740, 880, 740, 587, 659, 587, 659, 740, 880, 740, 587, 659, 587, 659, 740, 880, 740, 587, 587, 587, 587, 587, 784, 740, 659, 587, 587, 494, 440, 880, 740, 740, 587, 587, 587, 587, 659, 740, 880, 740, 740, 587, 587, 587, 587, 659, 587, 659, 740, 880, 740, 740, 587, 587, 587, 587, 784, 740, 659, 587, 587, 494, 440};
//^SECRETS^
//int myarray[] = {349, -1, 330, -1, 330, -1, 330, -1, 330, -1, 330, -1, 330, 294, 294, 330, 330, 554, 494, 392, 349, 330, 330, 330, 330, 330, 330, 262, 262, 247, 247, 554, 494, 392, 349, 330, 330, 330, 330, 330, 330, 294, 294, 330, 330, 554, 494, 392, 349, 330, 330, 330, 330, 330, 330, 262, 262, 247, 247, 554, 494, 392, 349, 330, 330, 330, 330, 330, 330, 294, 294, 330, 330, 554, 494, 392, 349, 330, 330, 330, 330, 330, 330};
//^LEVELS^
//int myarray[] = {587, 698, 659, 587, 523, 440, 349, 392, 440, 523, 466, 440, 392, 349, 523, 523, 523, 523, 523, 440, 466, 494, 523, 587, 523, 440, 440, 392, 349, 523, 587, 523, 440, 659, 523, 587, 523, 523, 523, 523, 523, 587, 523, 587, 523, 466, 440, 440, 440, 440, 466, 523, 466, 440, 349, 440, 392, 494, 659, 587, 523, 587, 659, 587, 523, 523, 587, 523, 440, 440, 392, 349, 523, 587, 523, 440, 659, 523, 587, 523, 523, 523, 523, 523, 587, 523, 587, 523, 466, 440, 440, 440, 440, 466, 523, 466, 440, 349, 440, 392, 494, 659, 587, 523, 523, 523, 523, 523, 523, 523, 494, 466, 440, 415, 440, 466, 466, 440, 466, 466, 466, 466, 440, 466, 523, 523, 494, 523, 587, 698, 659, 587, 523, 440, 349, 440, 392, 370, 440, 392, 370, 392, 392, 523, 440, 440, 440, 415, 440, 466, 440, 466, 466, 466, 466, 440, 466, 523, 523, 494, 523, 587, 698, 659, 587, 523, 440, 349, 392, 440, 523, 466, 440, 392, 349, 523, 523, 523, 523, 523, 523, 494, 466, 440, 415, 440, 466, 466, 440, 466, 466, 466, 466, 440, 466, 523, 523, 494, 523, 587, 698, 659, 587, 523, 440, 349, 440, 392, 370, 440, 392, 370, 392, 392, 523, 440, 440, 440, 415, 440, 466, 440, 466, 466, 466, 466, 440, 466, 523, 523, 494, 523, 587, 698, 659, 587, 523, 440, 349, 392, 440, 523, 466, 440, 523, 698};
//^FIGHT SONG^
//int myarray[] = {1396, 1660,  1244, 1244, 988,  1174, 1108, 988,  988,  1108, 1174, 1244, 1108, 988,  1108, 1244, 1396, 1660, 1244, 1396, 1108, 1244, 988,  1108, 988,  1244, 1396, 1660, 1244, 1396, 1108, 1244, 988,  1174, 1244, 1174, 1108, 988,  1108, 1174, 988,  1108, 1244, 1396, 1108, 1244, 1108, 988,  1244, 988,  1108, 988,  698,  784,  988,  698,  784,  988,  1108, 1244, 988,  1318, 1244, 1318, 1396, 988,  988,  698,  784,  988,  698,  1318, 1244, 1108, 988,  698,  588,  658,  698,  988,  698,  784,  988,  698,  784,  988,  988,  1108, 1244, 988,  698,  784,  698,  988,  988,  932,  988,  698,  784,  988,  1318, 1244, 1318, 1396, 988, 932};
//^CAT DOUBLED^
//int myarray[] = {392, 392, 392, 311,311, 466, 392,311,311,466,392,587,587,587,622,622,932,370,311,311,466,392,784,392,784,740,740,698,659,622,659,415,554,523,523,494,466,440,466,311,370,311,311,370,466,392,392,466,587,784,392,784,740,740,698,659,622,659,415,554,523,523,494,466,440,466,311,370,311,311,466,392,311,311,466,392,392};
//^IMPERIAL MARCH^
//int myarray[] = {294, 370, 440, 494, 494,  370, 494, 587, 659, 440, 587, 587, 494, 587, 494, 440, 494, 554, 587, 415, 494, 659, 587, 554, 440, 392, 330, 294, 370, 440, 494, 494, 370, 494,  587, 659, 440, 587, 587, 494, 587, 494, 440, 494, 554, 587, 740, 740, 440, 415, 440, 659, 659, 440, 392, 440, 587, 587};
//^ANCHORS AWEIGH^
int myarray[] = {523, 622, 587, 523, 466, 392, 311, 349, 392, 466, 415, 392, 349, 311, 466, 466, 466, 466, 466, 392, 415, 440, 466, 466, 523, 466, 392, 392, 349, 311, 466, 466, 523, 466, 392, 587, 466, 523, 466, 466, 466, 466, 466, 523, 466, 523, 466, 415, 392, 392, 392, 392, 415, 392, 415, 392, 311, 392, 349, 440, 587, 523, 466, 466, 466, 466, 466, 466, 466, 440, 415, 392, 220, 247, 262, 294, 330, 349, 370, 392, 415, 415, 392, 415, 294, 349, 415, 349, 392, 415, 415, 415, 392, 415, 466, 466, 440, 466, 311, 392, 466, 392, 466, 523, 622, 587, 523, 466, 392, 311, 392, 349, 330, 392, 349, 330, 349, 349, 466, 466, 440, 415, 392, 220, 233, 262, 294, 311, 349, 370, 392, 415, 415, 392, 415, 294, 349, 415, 349, 392, 415, 415, 415, 392, 415, 466, 466, 440, 466, 311, 392, 466, 392, 466, 523, 622, 587, 523, 466, 392, 311, 349, 392, 466, 415, 392, 466, 622, 587, 523, 466, 622};
//^MALLET FIGHT SONG^
//int myarray[] = {587, 587, 392, 523, 587, 659, 659, 587, 523, 523, 466, 392, 392, 392, 466, 392, 220, 466, 523, 523, 466, 392, 587, 587, 392, 523, 587, 587, 392, 392, 523, 587, 523, 466, 392, 392, 294, 466, 392, 220, 349, 392, 392};
//^MONEY FOR NOTHING^
//int myarray[] = {247, 311, 247, 370, 247, 311, 247, 370, 247, 311, 247, 370, 247, 311, 247, 370, 247, 311, 247, 370, 247, 311, 247, 311, 247, 311, 247, 370, 247, 311, 247, 370, 247, 330, 247, 392, 247, 330, 247, 392, 247, 330, 247, 392, 247, 330, 247, 392, 247, 330, 247, 392, 247, 330, 247, 392, 247, 330, 247, 392, 247, 330, 247, 392, 247, 311, 247, 370, 247, 311, 247, 370, 247, 311, 247, 370, 247, 311, 247, 370, 247, 311, 247, 370, 247, 311, 247, 370, 247, 311, 247, 370, 247, 311, 247, 370, 247, 330, 247, 392, 247, 330, 247, 392, 247, 330, 247, 392, 247, 330, 247, 392, 247, 330, 247, 392, 247, 330, 247, 392, 247, 330, 247, 392, 247, 330, 247, 392, 247, 494, 247, 440, 247, 415, 247, 440, 247, 415, 247, 370, 247, 415, 247, 330, 247, 370, 247, 311, 247, 330, 247, 311, 247, 330, 247, 311, 247, 330, 247, 311, 247, 392, 247, 440, 247, 415, 247, 440, 247, 415, 247, 370, 247, 415, 247, 330, 247};
//^THUNDESTRUCK
//NOTE ARRAYS/////////////////////////////////////////////////////

//int notearray[] = {8, 8, 8, 8, 8, 8, 8, 8, 8, 8, 8, 8, 8, 8, 8, 8, 8, 8, 8, 8, 8, 8, 8, 8, 8, 8, 8, 8, 8, 8, 8, 8, 8, 8, 8, 8, 8, 8, 8, 8, 8, 8, 8, 8, 8, 8, 8, 8, 8, 8, 8, 8, 8, 8, 8, 8, 8, 8, 8, 8, 8, 8, 8, 8, 8, 8, 8, 8, 8, 8, 8, 8, 8, 8, 8, 8, 8, 8, 8, 8, 8, 8, 8, 8, 8, 8, 8, 8, 8, 8, 8, 8, 8, 8, 8, 8, 8, 8, 8, 8, 8, 8, 8, 8, 8, 8, 8, 8, 8, 8, 8, 8, 8, 8, 8, 8, 8, 8, 8, 8, 8, 8, 8, 8, 8, 8, 8, 8, 8, 8, 8, 8, 8, 8, 8, 8, 8, 8, 8, 8, 8, 8, 8, 8, 8, 8, 8, 8, 8, 8, 8, 8, 8, 8, 8, 8, 8, 8, 8, 8, 8, 8, 8, 8, 8, 8, 8, 8, 8, 8, 8, 8, 8, 8, 8, 8};
//^THUNDER^
//int notearray[] = {4, 2, 4, 2, 2, 4, 2, 4, 1, 4, 2, 4, 2, 2, 4, 2, 4, 1};

//int notearray[] = {4, 4, 2, 2, 4, 4, 4, 4, 4, 4, 4, 4, 2, 2, 4, 4, 4, 2, 4, 4, 4, 4, 4, 4, 4, 4, 2, 2, 4, 4, 2, 4, 4, 2, 4, 4, 2, 2, 2, 2};
//^OG CAT^
//int notearray[] = {4, 4, 8, 8, 4, 8, 8, 8, 4, 4, 4, 8, 8, 8, 8, 8, 8, 8, 8, 8, 8, 8, 8, 8, 8, 4, 4, 8, 8, 8, 8, 8, 8, 8, 8, 8, 8, 8, 8, 4, 8, 8, 8, 8, 8, 8, 8, 8, 4, 4, 4, 4, 8, 8, 4, 8, 8, 8, 8, 8, 8, 8, 8, 8, 8, 4, 4, 8, 8, 8, 8, 8, 8, 8, 8, 8, 8, 8, 8, 4, 8, 8, 4, 8, 8, 8, 8, 8, 8, 8, 8, 8, 8, 4, 8, 8, 8, 8, 8, 8, 8, 8, 8, 8, 4, 4};
//^NEW CAT^
//int notearray[] = {4, 4, 4, 4, 4, 4, 4, 4, 4, 4, 4, 4, 4, 4, 4, 4, 4, 4, 4, 4, 4, 4, 4, 4, 4, 4, 4, 4, 4, 4, 4, 4, 4, 4, 4, 4, 4, 4, 4, 4, 4, 4, 4, 4, 4, 4, 4, 4, 4, 4, 4, 4, 4, 4, 4, 4, 4, 4, 4, 4, 4, 2, 2, 4, 4, 4, 4, 2, 2, 2, 4, 4, 4, 4, 4, 2, 2, 4, 4, 4, 4, 4, 2, 2, 4, 2, 4, 4, 4, 2, 2, 2, 2, 2, 4, 4, 4, 2, 2, 2, 2, 2, 4, 4, 4, 2, 2, 2, 2, 2, 4, 4, 4, 4, 2, 2, 4, 4, 4, 4, 2, 2, 4, 4, 4, 4, 2, 2, 2, 4, 4, 4, 4, 2, 2, 2, 4, 4, 4, 4, 2, 2, 2, 4, 2, 4, 4, 2, 1, 1, 2, 2, 2, 2, 2, 2, 1, 2, 4, 4, 4, 4, 4, 2, 2, 1, 4, 4, 4, 4, 4, 4, 4, 4, 2, 2, 1, 2, 2, 4, 4, 2, 1, 1, 2, 2, 2, 2, 2};
//^SECRETS^
//int notearray[] = {4, 16, 8, 16, 8, 16, 8, 4, 4, 4, 4, 4, 4, 4, 4, 4, 4, 4, 4, 4, 4, 4, 4, 4, 4, 4, 4, 4, 4, 4, 4, 4, 4, 4, 4, 4, 4, 4, 4, 4, 4, 4, 4, 4, 4, 4, 4, 4, 4, 4, 4, 4, 4, 4, 4, 4, 4, 4, 4, 4, 4, 4, 4, 4, 4, 4, 4, 4, 4, 4, 4, 4, 4, 4, 4, 4, 4, 4, 4, 4, 4, 4, 4};
//^LEVELS
//int notearray[] = {2, 2, 2, 2, 2, 2, 2, 2, 4, 2, 4, 2, 2, 4, 8, 8, 4, 4, 4, 4, 4, 4, 2, 4, 2, 2, 2, 2, 2, 2, 4, 2, 2, 4, 2, 4, 2, 4, 8, 8, 4, 4, 4, 4, 4, 4, 4, 8, 8, 4, 4, 4, 4, 4, 4, 4, 2, 4, 2, 2, 2, 4, 4, 4, 2, 2, 4, 2, 2, 2, 2, 2, 2, 4, 2, 2, 4, 2, 4, 2, 4, 8, 8, 4, 4, 4, 4, 4, 4, 4, 8, 8, 4, 4, 4, 4, 4, 4, 4, 2, 4, 2, 2, 4, 8, 8, 4, 4, 4, 4, 4, 4, 1, 2, 2, 4, 2, 4, 2, 4, 2, 4, 2, 2, 4, 2, 4, 2, 2, 2, 2, 2, 2, 2, 2, 4, 2, 4, 2, 2, 4, 4, 2, 2, 4, 2, 4, 2, 2, 2, 4, 2, 4, 2, 4, 2, 2, 4, 2, 4, 2, 2, 2, 2, 2, 2, 2, 2, 2, 4, 2, 4, 2, 2, 4, 8, 8, 4, 4, 4, 4, 4, 4, 1, 2, 2, 4, 2, 4, 2, 4, 2, 4, 2, 2, 4, 2, 4, 2, 2, 2, 2, 2, 2, 2, 2, 4, 2, 4, 2, 2, 4, 4, 2, 2, 4, 2, 4, 2, 2, 2, 4, 2, 4, 2, 4, 2, 2, 4, 2, 4, 2, 2, 2, 2, 2, 2, 2, 2, 2, 4, 2, 4, 2, 2, 1};
//^FIGHT SONG^
//int notearray[] = {2,2,2,2,4,4,2,2,4,4,1,2,2,2,2,4,4,2,2,4,4,1,2,2,2,2,4,4,4,4,2,2,2,2,4,4,4,4,2,2,2,2,4,4,2,2,4,4,1,2,2,2,2,4,4,4,4,2,2,2,2,4,4,4,4,2,2,2,2,4,4,2,2,4,4,1,1};
//^IMPERIAL MARCH^
//int notearray[] = {1, 2, 2, 2, 4, 4, 1, 1, 2, 2, 1, 1, 1,  2, 2, 2, 2, 2, 2, 2, 2, 2, 2, 2, 2, 2, 2, 1, 2, 2, 2, 4, 4, 1, 1, 2, 2, 1, 1, 1, 2, 2, 2, 2, 2, 2, 4, 8, 8, 4, 2, 4, 8, 8, 4, 2, 1, 1};
//^ANCHORS AWEIGH^
int notearray[] = {2, 2, 2, 2, 2, 2, 2, 2, 4, 2, 4, 2, 2, 4, 8, 8, 4, 4, 4, 4, 4, 4, 2, 4, 4, 2, 2, 2, 2, 1, 2, 4, 4, 2, 2, 4, 2, 4, 1, 4, 8, 8, 4, 4, 4, 4, 4, 4, 4, 8, 8, 4, 4, 4, 4, 4, 4, 4, 2, 4, 2, 2, 4, 8, 8, 4, 4, 4, 4, 4, 4, 4, 8, 8, 8, 8, 8, 8, 2, 2, 4, 2, 4, 4, 8, 8, 8, 8, 4, 4, 2, 4, 2, 2, 4, 2, 4, 4, 8, 8, 8, 8, 4, 2, 2, 2, 2, 2, 2, 1, 4, 2, 4, 2, 2, 4, 2, 4, 4, 4, 4, 4, 4, 8, 8, 8, 8, 8, 8, 2, 2, 2, 4, 4, 4, 8, 8, 8, 8, 4, 4, 2, 4, 2, 2, 4, 2, 4, 4, 8, 8, 8, 8, 4, 2, 2, 2, 2, 2, 2, 2, 2, 4, 2, 4, 2, 2, 4, 4, 4, 4, 1};
//^MALLET FIGHT SONG^
//int notearray[] = {4, 2, 4, 4, 4, 4, 2, 4, 4, 4, 4, 4, 2, 4, 4, 4, 4, 2, 2, 2, 4, 4, 4, 2, 4, 4, 4, 4, 4, 4, 4, 4, 4, 4, 4, 2, 4, 4, 4, 4, 4, 4, 1};
//^MONEY FOR NOTHING^
//int notearray[] = {8, 8, 8, 8, 8, 8, 8, 8, 8, 8, 8, 8, 8, 8, 8, 8, 8, 8, 8, 8, 8, 8, 8, 8, 8, 8, 8, 8, 8, 8, 8, 8, 8, 8, 8, 8, 8, 8, 8, 8, 8, 8, 8, 8, 8, 8, 8, 8, 8, 8, 8, 8, 8, 8, 8, 8, 8, 8, 8, 8, 8, 8, 8, 8, 8, 8, 8, 8, 8, 8, 8, 8, 8, 8, 8, 8, 8, 8, 8, 8, 8, 8, 8, 8, 8, 8, 8, 8, 8, 8, 8, 8, 8, 8, 8, 8, 8, 8, 8, 8, 8, 8, 8, 8, 8, 8, 8, 8, 8, 8, 8, 8, 8, 8, 8, 8, 8, 8, 8, 8, 8, 8, 8, 8, 8, 8, 8, 8, 8, 8, 8, 8, 8, 8, 8, 8, 8, 8, 8, 8, 8, 8, 8, 8, 8, 8, 8, 8, 8, 8, 8, 8, 8, 8, 8, 8, 8, 8, 8, 8, 8, 8, 8, 8, 8, 8, 8, 8, 8, 8, 8, 8, 8, 8, 8, 8, 8};

//^NEW THUNDERSTRUCK^
int pulseArray[sizeof(myarray)-1] = {};
int p = 0;




//Frequency to period function
void ftp(){
  Serial.println(sizeof(myarray)/sizeof(int)-1);
  for(int i = 0; i <= sizeof(myarray)/sizeof(int)-1; i++){
//    Serial.println(myarray[i]);
    if(myarray[i] < 0) {
      myarray[i] = -1;
      pulseArray[i] = 1;
      Serial.println(myarray[i]);
      Serial.println(notearray[i]);
    } else {
      int numPulse = myarray[i]/notearray[i];
      myarray[i] = 1 / float (myarray[i])*1000000 - 142;  
      
      pulseArray[i] = numPulse;
    }
  }
}

bool togglekill(void){ 
  state = !state;
    if(state) {
      analogWrite111k(11, 0);
      analogWrite111k(12, 0);
    } else {
      analogWrite111k(11, 30);
      analogWrite111k(12, 30);
    }     
   return true;
}

//////////////////////////////////////////////////////////////////////////////// HERE

void analogWrite111k(int pin, int value)
{
  if (!state) {
    switch (pin) {
        case 11:
        TCCR1A = _BV(COM1A1)  // non-inverted PWM on ch. A
           | _BV(COM1B1)  // same on ch; B
           | _BV(WGM13);  // mode 10: ph. correct PWM, TOP = ICR1
            OCR1A = value;

            TCCR1B = _BV(WGM13)   // ditto
           | _BV(CS10);   // prescaler = 1
            OCR1B = value;
            break;
        case 12:
           TCCR1B = _BV(WGM13)   // ditto
           | _BV(CS10);   // prescaler = 1
            OCR1B = value;
            break;
        default:
            // no other pin will work
            break;
      }
    } else {
          switch (pin) {
        case 11:
            TCCR1A = 0;
            OCR1A = 0;

            OCR1B = 0;
            TCCR1B = 0;
            
            break;
        case 12:
            OCR1B = 0;
            TCCR1B = 0;
            break;
        default:
            // no other pin will work
            break;
    }}
     
}

void variableDelay(long int NUMus) {
  togglekill();
  delayMicroseconds(142);
  togglekill();
  delayMicroseconds(NUMus);
}


int totalPulses = 0;

void setup()
{
  Serial.begin(9600);
  ftp();
  for(int i = 0; i < sizeof(pulseArray)/sizeof(int); i++) {
    totalPulses = totalPulses + pulseArray[i];
  }
  Serial.println(totalPulses);
  pinMode(A4, INPUT);
//  digitalWrite(4, HIGH);
//  pinMode(4, OUTPUT);
  while(analogRead(A4)<200){
    
  }
    // Configure Timer 1 for PWM @ 111 kHz.
    TCCR1A = 0;           // undo the configuration done by...
    TCCR1B = 0;           // ...the Arduino core library
    TCNT1  = 0;           // reset timer
    TCCR1A = _BV(COM1A1)  // non-inverted PWM on ch. A
           | _BV(COM1B1)  // same on ch; B
           | _BV(WGM13);  // mode 10: ph. correct PWM, TOP = ICR1
    TCCR1B = _BV(WGM13)   // ditto
           | _BV(CS10);   // prescaler = 1
    ICR1   = 61;         // 8MHz / freq = ICR1

//////////////////////////////////////////////////////////////////////////////// HERE

    
    pinMode(11, OUTPUT);
    pinMode(12, OUTPUT);

//    timer.every(80, togglekill);


}

int k1 = 0;

void loop()
{ 
       
    for (;;){
      if(j<totalPulses){
        if(p<pulseArray[k1]){
          if(myarray[k1] < 0) {
            delay(2000/notearray[k1]);
            Serial.println(2000/notearray[k1]);            
          } else {
            variableDelay(myarray[k1]);
          }
          p++;
        } else {
          variableDelay(myarray[k1]);
          p = 0;
          k1++;
        }
      } else {
        while(true) {
          
        }
      }
      
      j++;
      
//       timer.tick();   // infinite loop
      
    }
  
}


// PWM output @ 25 kHz, only on pins 9 and 10.


 


// Output value should be between 0 and 320, inclusive.


 


 


#include<arduino


-


timer.h>


 


 


Timer <1,micros> timer;


 


 


int j = 0;


 


bool state = HIGH;


 


 


//FREQUENC


Y ARRAYS////////////////////////////////////////////////


 


//int myarray[] = {554, 554, 554, 498, 554, 587, 587, 554, 587, 587, 587, 587, 554, 587, 659, 659, 587, 


659};


 


 


//int myarray[] = {659, 698, 784, 1047, 659, 698, 784, 1047, 1175, 1319, 1175,  988, 104


7, 784, 659, 698, 


784, 1047, 1175, 988, 1047, 1175, 1397, 1319, 1397, 1175, 1568, 1760, 1319, 1319, 1047, 1245,1175, 


1047, 1047, 1175, 1245};


 


//^NYAN CAT^


 


//Set time divisor; 4=eighth 2=quarter 1=half 


 


//int myarray[] = {311, 247, 349, 247, 294, 247, 349, 


247, 294, 247, 349, 247, 294, 247, 349, 247, 311, 


247, 349, 247, 294, 247, 349, 247, 294, 247, 349, 247, 294, 247, 349, 247, 330, 247, 392, 247, 330, 247, 


392, 247, 330, 247, 392, 247, 330, 247, 392, 247, 330, 247, 392, 247, 330, 247, 392, 247, 330, 247, 3


92, 


247, 330, 247, 392, 247, 311, 247, 349, 247, 294, 247, 349, 247, 294, 247, 349, 247, 294, 247, 349, 247, 


311, 247, 349, 247, 294, 247, 349, 247, 294, 247, 349, 247, 294, 247, 349, 247, 330, 247, 392, 247, 330, 


247, 392, 247, 330, 247, 392, 247, 330, 24


7, 392, 247, 330, 247, 392, 247, 330, 247, 392, 247, 330, 247, 


392, 247, 330, 247, 392, 247, 494, 247, 440, 247, 415, 247, 440, 247, 392, 247, 349, 247, 392, 247, 330, 


247, 349, 247, 311, 247, 330, 247, 294, 247, 330, 247, 294, 247, 330, 247, 294, 247, 494


, 247, 440, 247, 


415, 247, 440, 247, 392, 247, 349, 247, 392, 247, 330, 247};


 


//^THUNDER


 


//int myarray[] = {691, 823, 615, 615, 487, 580, 547, 487, 487, 547, 580, 615, 547, 487, 547, 615, 691, 


823, 615, 691, 547, 615, 487, 547, 487, 615, 691, 823, 615, 691


, 547, 615, 487, 580, 615, 580, 547, 487, 


547, 580, 487, 547, 615, 691, 547, 615, 547, 487, 615, 487, 547, 487, 342, 385, 487, 342, 385, 487, 547, 


615, 487, 652, 615, 652, 691, 487, 487, 342, 385, 487, 342, 652, 615, 547, 487, 342, 287, 322, 342, 487, 




// PWM output @ 25 kHz, only on pins 9 and 10.   // Output value should be between 0 and 320, inclusive.     #include<arduino - timer.h>     Timer <1,micros> timer;     int j = 0;   bool state = HIGH;     //FREQUENC Y ARRAYS////////////////////////////////////////////////   //int myarray[] = {554, 554, 554, 498, 554, 587, 587, 554, 587, 587, 587, 587, 554, 587, 659, 659, 587,  659};     //int myarray[] = {659, 698, 784, 1047, 659, 698, 784, 1047, 1175, 1319, 1175,  988, 104 7, 784, 659, 698,  784, 1047, 1175, 988, 1047, 1175, 1397, 1319, 1397, 1175, 1568, 1760, 1319, 1319, 1047, 1245,1175,  1047, 1047, 1175, 1245};   //^NYAN CAT^   //Set time divisor; 4=eighth 2=quarter 1=half    //int myarray[] = {311, 247, 349, 247, 294, 247, 349,  247, 294, 247, 349, 247, 294, 247, 349, 247, 311,  247, 349, 247, 294, 247, 349, 247, 294, 247, 349, 247, 294, 247, 349, 247, 330, 247, 392, 247, 330, 247,  392, 247, 330, 247, 392, 247, 330, 247, 392, 247, 330, 247, 392, 247, 330, 247, 392, 247, 330, 247, 3 92,  247, 330, 247, 392, 247, 311, 247, 349, 247, 294, 247, 349, 247, 294, 247, 349, 247, 294, 247, 349, 247,  311, 247, 349, 247, 294, 247, 349, 247, 294, 247, 349, 247, 294, 247, 349, 247, 330, 247, 392, 247, 330,  247, 392, 247, 330, 247, 392, 247, 330, 24 7, 392, 247, 330, 247, 392, 247, 330, 247, 392, 247, 330, 247,  392, 247, 330, 247, 392, 247, 494, 247, 440, 247, 415, 247, 440, 247, 392, 247, 349, 247, 392, 247, 330,  247, 349, 247, 311, 247, 330, 247, 294, 247, 330, 247, 294, 247, 330, 247, 294, 247, 494 , 247, 440, 247,  415, 247, 440, 247, 392, 247, 349, 247, 392, 247, 330, 247};   //^THUNDER   //int myarray[] = {691, 823, 615, 615, 487, 580, 547, 487, 487, 547, 580, 615, 547, 487, 547, 615, 691,  823, 615, 691, 547, 615, 487, 547, 487, 615, 691, 823, 615, 691 , 547, 615, 487, 580, 615, 580, 547, 487,  547, 580, 487, 547, 615, 691, 547, 615, 547, 487, 615, 487, 547, 487, 342, 385, 487, 342, 385, 487, 547,  615, 487, 652, 615, 652, 691, 487, 487, 342, 385, 487, 342, 652, 615, 547, 487, 342, 287, 322, 342, 487, 

